ancock County Fair

LITI

-~

»
D

Fairgrounds Saturday, August. 3, 2019

2019 STOCK BIG CAR RULES
1. Any Passenger Car or Station Wagon Only. No Trucks, Jeeps, Hearses, Limosines or Checkered Cabs.
No Pre1973 Chrysler Imperials and no Imperial Sub Frames, No Pre 1973 Lincolns.
2. Sedagons Are Not Allowed.
3. All Glass, Side Windows, Rear Windows, Headlights and Tail Lights Must Be Removed Before Reaching Track.
Rolling Down windows is not allowed.
4. Rear Seat of Sedan Must Be Removed, Top and Bottom. On Station Wagons all seats and decking must be
removed. Station Wagons must be emptied to the floorboards.
5. Cars must have a seatbelt and brakes! MANDATORY!!
6. Battery may be moved, but must be securely fastened and covered in passenger compartment. Two batteries
allowed.
7. Front windshield bar is mandatory and is limited to a 2" WIDE X 1/4” thick strap or a chain/9 wire loop.
8. Stock gas tank must be removed from original position and mounted in the rear seat area. No rubber or chain
straps. All anks must have a secure cap. A marine tank or fuel cell is strongly recommended. All lines and fittings must
be leak proof and meet approval of the track officials. Electric fuel pumps are allowed. All tanks must be secured down
and be covered.No rachet straps to sheet metal. (Inspector and Officials will have final say on safety).
9. All lines must be ran inside the car, not along the frame underneath.
10. All lines should be double clamped. No alcohol.
11. Radiator must be in the stock position.
12. No radiator guards. Any automotive type radiator can be used. Aluminum radiators are legal.
13. No home made radiators are allowed.
14. No reserve tanks and no added cooling capacity.
15. One electrical fan, mounted to the radiator, may be used.
16. Do not move core support. (Core support spacer height 4” maximum) Spacer can not be welded.
17. No body seams may be welded. No metal may be added.
18. No doubling of body panels allowed, no added metal allowed.
19. No body creasing. This means you can not beat quarter in or out on a fresh car.
20. Fenders may be bolted together. Max 10-3/8” bolts and washers for 3/4” bolt above the fender well. No home
made washers.
21. Doors may may be chained, wired or welded. Welded doors are the only welding on the car body allowed. When
welding doors: 6” on 6” off all the way around the outside of car only.
22. Body bolts may be changed 5/8 bolts max!!! You must have a 1 inch space between body and frame or you will
not run, 3 inch max on washers, and bolts must be in stock location.
23. Suspension must be stock. Spring spacers are allowed
24. You may run any tie rod.
25. No solid suspension. Car must bounce.
26. Hood must be open at inspection.
27. Hoods must have 2 holes, at least 4” in diameter on each side of the carburetor. Not directly on top of the
carburetor. If the hood is removed, either the fan or fan belt must be removed.
28. Hood may be secured by 2 pieces of all thread outboard, the radiator cannot be sleeved.
29. Hoods can be held shut with 1 of the following, but not both:
(A) 8 pieces of 2" long pieces of 2" X 2” angle with a single 3/8” bolt through them.
(B) 8 pieces of #9 wire attaching hood to fender.
(C) 8 mounting spots only with washer no bigger than 4”.

30. You are allowed unlimited #9 wire across the front in front of radiator

31. Trunk lid can be welded 6” on 6” off. You may use 4 pieces of all thread to secure the trunk lid. All thread and
washer must be inside frame rail in factory location through rear body mounts only. 3” washer max. No sleeving
the all thread and no nuts directly under the trunk lid.

32. Unlimited #9 wire across the back can be used here as well from trunk to bumper and in 4 spots on each side.
Or 4 angle back to back with one 3/8” bolt in each.

33. The trunk lid must remain on hinges.

34. The trunk lid may be V'd in the center, but must remain at least 10” off the trunk floor. Quarters can not be beat
down or in.

35. All cars must have a safety cage and roll over bar.

36. A 4 point cage is required and limited to 4 points ony. Your cage must have a dash bar that must be 4” from the
firewalll.Your cage must have a bar behind B pillar no more than 6” away from it. You must have 2 side bars and
they must not be farther than the side wheel humps and must not extend past your dash bar. The side bars may not
be welded to the rear humps.

37. Roll over bar cannot be more than 6” behind B pillar. Roll over bar cannot attach to frame. Weld or bolt it to
sheet metal only. A 6’ X 6" plate may be used in aiding it to be attached to floor sheet mtall. Roll over bar may be
bolted to roof in two spots only. Driver & Passenger front door bars: You may plate from door bar to bottom of door,
1/4” Max thickness on a plate. This is for safety purposes only. Do not get creative or you will be cut. If you don’t
understand, call first.

38. The cage can be welded to sheet metal only.You can have up to 4 down posts, 2 per side. Nothing can be ran
between the rear humps or welded to the humps. No kickers to the frame humps- front or back. You are allowed 2
strands of #9 wire (no chains) from cage to frame rail in center of doors. Straight up and down.

39. Cage can be mde out of 6” pipe or 6” square tubing max.

40. All down tubes must be at or behind the dash bar, straight up and down. Welded to sheet metal only.

41. You may have a gas tank protector no wder than 24” and 10” off back of seat pan.

42. No welding, plating or reinforcing of the frame.

43. All factory frame holes must be left open.

44. Any reinforcing of frame found will result in disqualification. Pitching the frame: You can only cold bend!!

45. Sub frame cars cannnot be tied together. If you want to run a full frame car, buy a full frame car, don’t build one.
46. You can shorten the front frame only to aid in mounting front bumper. Cannot be more than 3” inches and must
not touch front mount.

47. Any steering allowed.

48. Rear frame rails may not be shortened.

49. You may chain or wire your axle to frame hump. One spot per side. May not be bolted through frame.

50. OEM shock canister Ford to Ford, GM to GM etc... and stock bumpers only. Any bumper on any car. No rear
bumpers or rear shock tubes on front. Must be mounted with factory material and in factory location.

51. Bumpers may be welded on. No added metal, single pass only. If you shorten the frame 3” you must also
shorten the shock.

52. You may bolt a chain from bumper to bumper shock at the frame 3/8” max.

53. Loaded bumpers can be loaded only inside OEM car bumpers!

54. Bumpers can be no higher than 27” from the ground to the top of the bumper or lower than 16” from the ground
to the bottom of the frame rail.

55. Any engine or transmission may be used in any car, but must be mounted within 6” of the original motor. Engine
cannot protrude into the passenger compartment before the race.

2019 Hancock County Fair Catalogue

Page 31



